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2 THA T RE A fe

4

(7% + x+ D(x—7)

(9+ 4 (4x + 6)

(5x+ 6)(9x — 6)

(7x° — 8x — 8)(5x + 2)

8+ 5 (3x— 9)

H #A:

o
=

(6x— 3)(2x +9)

(x— 3)(8x° +x+ 1)

(2% + 9x + 9)(8x + 6)

(x+ 3)(7x* — 8x— 8)

(7x* — x— 1)(2x + 2)
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2 THA T RE A fe

W44

(7% + x+ 1)(x—7)
T — 48x% — 6x — 7

9+ 437 (4x + 6)
16x° + 24x° + 36x + 54

(5x+ 6)(9x— 6)
455 + 24x — 36

(7% — 8&x — 8)(5x + 2)
35x° — 26x% — 56x— 16

8+ 5 (3x— 9)
15x° — 45x° + 24x— T2

(6x— 3)(2x +9)
12x° + 48x — 27

(x—3)(8 +x+ 1)
8> —23x* —2x— 3

(2% + 9x + 9)(8x + 6)
16x° + 84x* + 126x + 54

(x+ 3)(7x% — 8x— 8)
7 + 13x% — 32x — 24

(7% — x— 1)(2x + 2)
14> + 126% — 4x— 2
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